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i H BUSINESS

o MATHEMATICS i
"SHORT QUESTIONS

Q.1- ' Define Proﬁt and Percentage of Profit.’
Ans. If selling’ price of an article is greater than the cost

price. Then the difference between them is called
profit. Thus

Profit = Selling Price ~ Cost Price|’
= P=8P =CP s SP=CPFP. .
Proﬁt Percentage = P LR ;

x 1000,

.Q.2- Deﬁne Loss and Loss percentage?
Ans. . When the selling price is less than its cost price. Then
the difference betweeh them is called lbss Thus

" Loss = Cost Price — Selling Price
Loss=C.P - SP::CP SP+Loss

Loss % age =

.L
P °

Q.3- Define Marked Price, Llst Pnce and Discount. |
Ans. The price pl:mted on the wrapper.of artncle 18 called
_max_'ked price and {the price“af article given' in the list

' ‘proyided by the factory is called list price. |
A deduction of price offered by the seller on the
marked price or the list price is called discount. '
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Q.4- - Write the mathematical relatlons rcgarding.

dlscount. ‘ . e

(i) Discoum (Marked price or List Price) x Disdoum %

(i) | Sale Price = (Marked or List Pnce) Dnscount

e o - Discount "

(iii) Discount % = —MP 100 =

Q.5- Define Partnership. What are its types.

Ans. An association of two or more persons who runs a
business to get profit is called partnership. There are
two type of partnership. ' .

(i)  Simple partnership. (i) Compound pé:rmership; .

. Q.6- Define simple partnership. : ‘

Ans.. ‘When the partners; invest capital for the same period of
time, the pa_rtnershlp is called simple. In this case,
 profit or loss is distributed among partners in the ratio

_ of capital invested by each of them. '

Q.7- Define compound partnership.

Ans. When different partners invest capita] for different
periods of time, the partnership is known as
compound. In this case, profit and loss is distributed in
the ratio of products of capital and period of -
investment of each partner. '

Q.8- A bicycle was purchased for Rs.3450 and sold for
Rs.3850. Find the proﬁt percemage.

Soluﬁon C.P =Rs.3450, \S.P.=Rs. 3850

Proﬁt = Rs.3850 — Rs 3450 = Rs.400
> \I\J V¥ a » Profit 400

, B W Proﬁt /oag_e CostP x 100 = '}75—5 ]00

=11.6%
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Q.9- A book is sald for Rs.650 at a profit of 30%. Find
‘the cost price.- ..

¥ Solution. ~ * - SP=Rsi650
Profit % age = 30 %
- 100 x S.P
100 + Profit % age
: 100 |
@2=———x650 =Rs. |
2= T00+30 " Rs. 500 Ans.

Q.10- A boy bought a book for Rs.575 and sold it for
- Rs.320 what was the loss % age. -

 Solution.  CP=Rs.575, ' SP=Rs320

Loss =Rs.575 — Rs 320 Rs :?65
» 100 :

—

Lo,ss%asnge—]"0
255

= 222 % 100 = 44. 34%
575

" Q.11- Marked price of dinner set is Rs.8450.. The store

offers 10% dncountwhatisthesalepmofdhnerut"
Solut)on. . “M.P =Rs.8450
Discount = /0% of M.P.

10
= 2¢ . 8450 = Rs.845
T x 8450 =

Sale Price = M.P - Discount
= Rs.8450 — Rs.845 =Rs.7605 1 ||
Q 12- The share of three partners are im the. ratio 2: 3:5.
. Find the share of each in the1oss of Rs.10,00,000.
Solution. GivenRafio=2:3:5"
B i Sumofratxos=2+3+5-10 _

- ; =3 :
Shmoflstparmq=ﬁxmooooo = Rs.200000

I ¢ 5 4
Share of 2nd partner = -7 > 10,00,000 = Rs.30,00.00
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Share, of 3rd parther =7 x 10.00000 = Rs.500,000

Q13- Umer and Ali invested Rs.3,00,000 and Rs.5,00,000
' respectively and earned a profit of 2,20,000 from a
business. Find the share of each in pro!it.

Solution. Ratio : Umer 57 Ali
' 13,00000 : 500000
: 3 : ]
Sum of ratios =3+ 5=8. e
' Profit = Rs.2,20,000 i, o

. ; ; , 5
Umer's share = = 22. 0000 = Rs.82.500 AnS.

i b1
Ali's sham—-x220 000 =Rs1 37500Ans

3 mms.:u ot
Q.1- FmdtheSP,wben o

() ~ CP'=Rs.950, Profit = 10%
(i) CP=Rs.1540, Loss =5%

(iii) CP=Rs.9600, Profit=10%
(i) CP =Rs.126000, Loss = 5%
(v  CP=Rs.480, Profit=3%
(vl CP=Rs.760, Loss‘ = 4%

Solution:- ‘ a B e
()" - CP=Rs.950, Proﬁt_m%‘ e
" Profit = 70% of C.p* :

JINNY. 210050 - Rs.95

S.P = C.P + Profit »
=Rs.950 +Rs.95  =Rs. 1045 Ans. =
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(ii) CP=Rs.1540;) |\ V' lo?s' 5%
Lbse-’J‘%ofCP £ e
A ~' | =ix154o Rs77 Ve
100

SP=CP-Loss ° - ,
: =Rs./54Q - Rs.77 =Rs.1463 Ans.
(i)  CP=Rs9600,  Profit=10%
Profit = /0% of C.P :
| 10
= 2og 9600 = = Rs.960
S.P = C.P + Profit i et ()
| = 9600 +960 = Rs.}056() 700 3 el Pl
()  CP=Rs.i26000) \\}| ‘Loss=5% '
Losg =B BRI e S T s

N 2, 126096 = - Rs.6300

SP CPp- Loss
= Rs.126000 - Rs6300~ -R3119700Ans
() .+ C.P=Rs.480, | Profn —3/
Proﬁt =3% of cP g
T 3 Lo y . , ...A:~"-~
-'me - :
=Rs.14.40 4 :
. S.P = C.P + Profit_ i } #
—-Rs480+Rsl440~\—Rs49440‘Ans
~(i)_ ' CP=Rs760, ' "' Loss=4% .

| Loss = MofCP SR
g ¥ ,“. y 4 X
a0 =-—- 7 =NRS.JU.
o | IOOX 60 &3040.
*SP=C.P-Loss .

=Rs.760 - Rs.30:40 . =Rs.729.60 Ans.
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Q.2- Haris purchased-acar for Rs.248000 and spent
Rs.12000 on.its denting and painting. He sold that
at a profit of $%. What dnd the customer pay to Haris?

Solution:~
Cost Price = Amount for Purchasing

' .+ Amaunt for denting and Painting
'C.P'=Rs.248000 + Rs.12000
= Rs.260000 ‘
 Profit = 5% of C.P.

= —2_ X 260086 = Rs.1300D
790

SP= CP+Proﬁt—Rs.260000+R&l3000 s
= Rs,273000 \ '

.| Thus the custorher paid Rs. 273000 to Hans Ans.
Q.3-' Find the CP, when

(i ~ -SP= Rs.672, Profit = 5%
(i) SP=Rs. 851, Loss=8%

i+ SP=Rs 755, Profit=123%
(iv)  SP =Rs. 2640, Loss = 12%
(v  SP=Rs.100, Profit=133 ;— %

Solution:- ;
() - SP=Rs.672, Profit = 5% .
CP= . 100 xSPT \J
. 100+Profn%age B Ll
J Wor =673
100+ 5 ‘ A
_ 67200 _ 13440 _ .,
705 21

" C.P = Rs.640 Ans.
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(i) .~ S.P=Rs®5k \J) \Loss=8%

b

\.«l

' Dl 100

AR B : : S.P
\S X O 100~ Loss %age -
. _ loo : '
T R
N ) e
=2 x 854 = Rs.925 png

—

/)

£

- (i) SP Rs.1755, me:slzg% =]2.50%

-

che=eud% . .gp
1 00 + Profit %age N\ § R W e
100 ¢ WAV Azshed © .
—— . I755
~IN 100+4g50 V¥~ 250
A'A =R51560Ans | | '
. (iv)  SP=Rs.2640, Loss=12% .
L IO .5 o | Do b
100~L_oss%fage
100
= e—— 2640
100-12"

3n

| = %x 2649 = Rs. 3000

! C.P=Rs:3000 Axs. '
(v  SP=Rs.100, Profit = 33.5% | | &/
s o 100 |N =

C.P= *S.p.s *
mofprogv/c.ageﬁ e y

N oo™ 7

N

‘ 0000 y
\ I\ St 100-—-—--R 75 SR
j X ‘* g 100 + 33.5 1335 - Ans ' :
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- Q4- A shop-keepet gains'a proﬁt of 7% by selling a -

dinner set’ for Rs.3852. If he sells it for Rs.4050,
. " find his profit percentage.
Solution:- :
S.P =Rs.3852, : Proﬁt ‘7% 5 N
100 .
R 100 + Profit % age W
100 100
— 3’852—45-385—2-
C.P =Rs.3600
Now again - : - |
CP=Rs.3600 “ and . ‘S.P=Rs.‘4050. |
Profit =S.P — C.P \ | BB
_.Rs4050 R8f5600 Rs450
Profit

v Prot'.lt%age- Fer x100
450 50
s ¢ OO i e
. 3666 -

—125«}6—122%,«,,s

Q.5- The selling price of 12 articles is eqnal to the cost
" price of 15 arqcles. Find profit percentage. L SR

' Solution:- g

.Lct cost pnce ¢f 15 artlcles Rs. 100 ")
Se sale price qf12 artlcles Rs. 700 AN § O

106
and sale pnceofl.i articles™ -‘E‘x 15 Rs.125

- \80, \Profit=S.P - C.P = Rs./25 ~Rs.100 = 25

Proﬁt
CP.
- 25

A o0 - - 25%
loox 5% Ans.

Profit % age 2

700
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Q6— Find tbe cost price, if.a fan is sold for Rs.1470, to

s
Zetia' pmﬁt the of its cost price.

Sdluxlon G T,
Sellmg price = Rs./ 4 70

| Proﬁt-gofCP
Thus. -
% S.P= CP+Proﬁt N
P CP+—(CP)

SP= (1 +£) xC.P

V| 6
6
cp=2sp
7 . _
=§-x(l470) -R51260An3 e

- . 1
Q.7- A man sold an. almirah at a profit of 7—% , had he

sold it for Rs. 209, he would have lost 2% For how
much the man. purcbased it? . '

‘Solution:- o ‘
_ SP= RS.209 o : ‘ \ ‘ nr_.*' -
¢ T Loss=2% ~r\iIRPEAS ) T T U
DRI Y .
CPis ———= SP .
N T Lf)ss"/;;agex ila
V100 100

209 = —— 2 9 13
--100.—2x 98 . >< 0 Rsz Ans
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- Q8-  Three chairs-are purchased at Rs.450 each. One of
these is sold at a loss of 10%. At what price should
the other two be sold so as to gain 20% on tbe
whole transaction?

Solution:-" ;

C.P of each chmrs Rs.450 /

For Ist chair
Loss = 10% = 10% of C.P.
' 10
o = W % 450 = Rs.45 |
S.P =C.P - Loss = Rs.450 — Rs.45
S.P = Rs.405 ' '
‘For. the whole &"m&qﬁon.
Rrofit X209 ~ -
VYT = 20%ofCP : |
=20, 1350 =Rs.370 L :
- 100 -
S.P of the three chairs :
- =C.P+Profit =1350+ 270=Rs.1620
SPofothertwochalrs S.P of three.chairs
- . = S.P of 1st chair
=Rs. ]620 Rs.405 =-Rs.1215 Ans

| EXERCISE 3.2

Q.1- Find the selling price, when ) o}
() .. ;MP =Rs.728, Discount = 6%
(i) MP= "Rs.2760, Discount = 5%

'Y @) MP =Rs.395.75, Discount = 8%

Solution:- .

() MP=Rs.728 - Disc=6%
Disc = 6% of M.P .
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: TONe
= —— X 728 = Rs. 43168 -
100,

Thus SP=MP- S Thine
=Rs.728 - Rs.43.68
=Rs.684.32 Ans. ‘
(i) ' M.P=Rs.2760, - Disc=5%
Disc = 5% of M.P .

= 22760 = Rs.138
100
Thus S.P = M.P — Disc - :
s =Rs.2760 — Rs.138
= Rs.2622 Ans. X .
(iij) © MP=Rs.395.75, - 1 | |- | Disc=8%"
Disc = 8% ofM.P | 1 %"~
NIV N2 50575 <3166
e 100
Thus S.P = M.P ~ Disc = Rs.395,75 — Rs.31.66

T A g =Rs.364.08 Ans.
'+ Q.2- Find the marked price, when :
; (i) SP = Rs. 515 20, Discount =8%
(i) SP = Rs.858, Discount = 12%
(iii). SP = Rs.2400 Discount = 4%

Solution:~ ] R R
(i) SP=Rs.515.20, Disc = 8% \ »)
(_..I.Q_._) %S.P
100 —-Dice )| « '
[\| VN 49 “xszszo
- " 100 - 8

100 -
=55 X515.20 =Rs.560 Ans.
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(ii) : SP
VN MP=

= Rs.858,

WWW.SEDINFO.NET

DISC 12% .

100 X S,P

100 - Dice

100
S T
q00-12"

100
‘@'x&f(’f =Rs.975 Ams. " © . -
_ (i) S.P =Rs.2400, . ‘Disc=4%,  .«."
. R =[_&]x §B° T ot B
! IOO— che . .

190 . x>4ou | R \
; 100— . ) I B e
25 11N $ - ]

:-"L'f_’-'iana
AR 3
y ¥ 24
.Q.3- The marked price of a ceiling fan is Rs. 720 It is
sold for Rs.684. What percentage discount is being 5
allowed?. '
Solution:- - | 3
| " M.P =Rs.720, ' S.P =Rs.684
Disc = M.P - SP =Rs. 720 Rs 684 Rs.36‘

Rs 2500 Ans

“Disc % age = Ll = 100

— 36 () |
it ;00 5/ 6 Ans. \
Q. 4— The marked pnce of washmg maehme is Rs. 3640
: During sale season it is sold for Rs.3367. Wl\at
J " percent sale discount is bemg given. :
, Solution‘ .
M.P = Rs.3640, S.P =Rs.3367

Disc = Rs,3640 - Rs.3367 = Rs.273



For more Notes, Past Papers, Guess Papers & Many more Visit Now WWW.SEDINFO.NET

63 : ; ‘ Friendly Nofc:l'-l:oir egcrql Mcﬂi}n’ﬁa 9
; Dise i e i
Disc % age,= —— x [00
N o9 2 ™. -
A WL S LR
3640— 52. 4

- Q.5- The marked price of a book is Rs.480. The
shopkeeper offers a disconnt of 10 % and still
gains 8%. Find the price at which the -shopkeeper

: - purchased it.
. Solution:- .
Disc= 10% ¢ 54 sl
=10%of MP ' ;
- _ﬂ’-x480 Rs.28

S.P=M.P—Disc.
V=480 - 48 —Rs.432.

Y VST Now
C.P= L A
100 + Profit % age
= 100 x432 s 2 :‘ s 5 g
100 + 8 ~
100

¢ = ——x432 =Rs.400
: 708 Ans

Q.6- A trader marl;s his goods in such a way that after
allowing a discount of 10%, he gains 15%. If an .
- _article costs him Rs.720 What is. its, marked pnce"
Sohition:~ WAl ¢ e
[OPN Rs. 20"
\ * Profit=15% "5
o . Profit = 15% of C.P

=—l-—5->(720
- 100 :
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~Rs. 108 |
: j\/S:B =C¥P + Profit.
\3) B 2 = Rs.720 + Rs.H08 = Rs.828
. T 100 k
MP= S.P
oW 100 Disc % age .

T 8

d 100
,.ioo 10
- 109
‘=|——x 828 =Rs.920
! Ans.

Q.7- The Ijst price of a TV is.Rs. 1260(! A discount of
5% is, allowed on it. Further for cash payment a
second "discount of 2% is given. How much cash
payment is to be made for, buying o :

Solution:- | !

\ Llst*Pnce Rs 12600
Dnsq 5% of L.P

]
L.._. 12
. x 12600 = Rs630.

x82;8'

S P = L.P — Disc
4 ::Rs 12600 ~ Rs. 630 = Rs. 11970 :
Disc for Casi; Payment =2 % -
' =2%of Cash

— 2 11978 =Rs.239.40
109" S

Cash Price = Rs./ /970 ~ 239,40 = Rs.\/1730:60 Ans..
Q8 If15% discouht on MP of a huter is allowed and
still makes-a proﬁt of 2%. if it is sold on MP, what
' is profit percentage? :
So]utlon Let us suppose.
,. M.P=Rs.100
Disc = 15% =Rs./5
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sP=MR=Dist J|\NT ~*°
= Rst - Rs 1 5
'SP=Rs85 . | i o
Profit % age = 2%
100
= X' S.P
100 + Profit % age R
300
_100 oo 8560. 250
102 92 '3
C.P=Rs.83.33 w

Now if the heater is sold on Marked price = Rs 1 00 b
Profit = S.P — C.P . _ -
= 100-83.33=Rs.1667\ ) .
Thus Profit%aage.is ' *
WAA Prot't i00
2 C.PF
+6:67 x 100
333
=20% Ans.’

Q.1- . Distribute Rs.200,000 as profit in a business .

regarding three persons, if their shares are in the
ratio3:2:5,

Sohmon -

LctthethrecpersonsbenamcdgsA B‘anHC So
Profit = Rs: 2000,00

¢

|\ 'Given'rafio : . e
S, et A . = B . - C ‘ G
I B - R 5

Sum of ratios =3 +2+5=10
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A's Share = !% x-200006: ~'Rs.60000 Aps,
B's Share = 1—20- « 200000 = Rs_.40000 A,
C's Sharc = 15—0 x 200000 = Rs.100000 Ans,

Q.2- If Ali, Daniyal and Abdullah earned 15% profit
S against an investment of Rs.750,000. Find the
. profit of each if their shares are in the ration X2 >
Solution:- -
Investment = Rs. 75Q,000
_ Profit = 15 % of investment Y\
15 :

i R PN L
leen Ratio " - S st 4
): NV AL T Daniyal e Abdullah . -
e e o : SR ¢ 5

Sum of ratios = 2 + 3 + 5.= 10
Ali's Share = = x 112500 = Rs.22500 Ans.

' Daniyl's Share =;% x 112500' = .Rs.33750 Ans.

-

Abdullah's Share = ]5—0 x 112500 = Rs.56250 Ans.
Q.3- Dlstnbute Rs.720 as profit amongst. three people;
“so that their shares are in the ratio 3 : 4 s :
Solutlon - -
J Profit = Rs. 720
" GivenRaito=3:4:5
Sum of ratios =3 + 4 +5 =12
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First Share ™ 735 $730 L Rs 180 Ans.
- 2nd Share = Iiz %720 = Rs.240 Ans.

3rd Share = %x?ZO — Rs.300 Ans.

Q.:4- Three persons invested an amount of Rs. 3,000,000
. in .2 business with shares ratio 2 : 3 : 7. They
earned a profit of Rs. 600,000. If they are
interested to wind up their business, what amount

every share holder would get" . :

Solution:- ~

- Total mvestmcnt Rs, 3, 000 000, «°
vaen Raito =2 3 Z'
Sumofrauos-2+3+ 7 = 12

[nvestmcnt of first parlner = 12’?_— X -3000099- - Rs.5 00000 e
Investment of 2nd partner = -}'12- x 3000000 Rs: 750000

Investment of 3rd partnef = -1-5 X 3000000 Rs. 1750000

Now .
Total Proﬁt = Rs. 600,000

Proﬁt of lst partncr = 722— x 600000 = Rs 100 000 ) .

Profitof 2ndpartner 1 %xwoooo Rs. 150,000

' Profit of 3rd partner = - x 600000 = Rs.350,000
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Now Amountof each partner is 3
: Athount of 1st Partner = Investment + Profit .
= Rs. 500000 + Rs. 100,000 = Rs. 600,000 Ans.
Amount of 2nd Partner = Rs. 750000 + Rs. 150, 000
= Rs. 900000 Ans.
Amount of 3rs Partner = Rs. / 750000 + Rs, 350 000.
_ =Rs. 2100000 Ans. |
Q.5- Three member of a firm divide the proﬂt Rs.67,200
. among themselves in the ratio 2:3:7. Whatis the
" biggest share of the profit?
Solution:--
Profit =Rs, 67,200, "\ t
Given Raito = 2.3%7 _
Sum of ratios =2+ 3+ 7 = 12 S

 Biggist Share = {Exé;zzoe Rs39200Ans

Q.6- A sum of money is divided among three persens.
. A,B and C in the ratio 10 : 7 : 5. If "B" gets Rs. 14
more than "C". How much will A" get and what
s the total sum of money?
s Solunon -

» As the given Ratio is

A - B, 5 ' € .
10 T : N ;
So let money of each person’be / Ox 7x antl 5x
: respectwcly\ 2
|\ V¥ By the _g:ven condition.
< e B's Money — C's Money = Rs. /4
| —~5x=14
ox =14

x=7
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' ThusAsMoney§ 105=10 x 7= Rs.70
thal sunruf‘Money 10x + 7x + 5x e
.) TR < =222 22% 7 : '
A g » - =Rs.154 Ans.
_ Review Exercise-3
; Q 1- Encircle the correct answer. -
. (i) . Profitis earned when: X
. (a) SP=CP -~ (3 SR<CP ‘
1) SPSCP. o (a'v)noneofmesej'
(i) Loss s there when: o 7 )
" as Wa) SP=ICP." '(b)SP(CP Wik ok
- (0 SP=MP N fd/SP>CP
(i) ,’Proﬁz% =9 wwhert s’:P>CP » _
I\ WY Proﬁt ' .  Profir -
S T
‘CPx Profit% © . 100xSP
< 700 . o 9 100+ Propr
{it)  SP=?where SP>CP: - S
(a) Profit — CP SR () (mof,l;rooﬁ’%)"‘fp
» ' CPxLoss%
_ (c) CP — Loss NS e
‘) CP=9: | C
: L JOORSP vy b TNV
@ 700 prgirke ) | \N T, 9/ 1655 = SP
-\ V@) MP  discount v D'".qco:;; ot
“_-:./; A% - : 2 .

Ans. :
Q@ | @@ | Gyw | &b | @@
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Q.2- Fill in the blanks. : :
P\ \[The price ‘at which a pamcular item is purchased is
e, s called )
‘ ! (ii) The price at which an article is sold out iscalled
(i)  When SP.>CP, CP=SP-?__ ;
(ivv  'When SP < CP, Loss % = .

B i _100xSP -
W) MP-———,;——.

)

(i) Cost Price (ii) Sale Price - | (i) Profit
C.P-S.P (v) 100 - Disc % age

s |

Q.3- A shopkeeper gams a profit of 8% by sellmg a
\ washing mschine for Rs.12000. If he sells it for
\ VRs.10,500, f'md lus proﬁt percentage.

~) ™ Solution:- ‘ -
S Pi= Rs 12000, ’ Proft = 8%
CP= 109 «S.P ’
100 + Profit % age !
‘ Y e B “n '
= — X 42000- = =Rs.1111].11
_ ; .11,
- - Zu '
9.
- Now if S.P = Rs.70500 .
Now S.P < C.P. So loss is incurred. ' \\)
. Loss = CP .S P 111.11 11 10.500 Rs611 ]’I
: ! - 393 .
NAMNRAS 1110GTTT
» \Loss % age = 100 - :
\i) S e e ' 55555
| P W ‘ 55560
611.11 ' ;
= —x 100 = 5.5% Ans.

11111.11

——
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Q.4- " If there.is a 10% dlscount on marked price of a
. television and still makes a profit of 5%. If it is sold
, in marked price, what is profit percentage" ;
Solution:- 5 )
Let us suppose |
M = Rs.100 »
Disc—]O%ofM.P se S
=20 100 =Rs:10 '
100 . :
'S.P=M.P -~ Disc = /00— 10 =Rs.90
"Profit = 5%. So : -

v e R 190. xSP N - ° -t .
: 100+Proﬁt%age w2l ‘
J _ 200 90_39 00 =990 g5 71
\J\J NV. Y7, " 105 21 7
~/ "% 7 uCP=Rs.857I
& - NowIfT.Vis. sold on M.P
SP=Rs.100 '
Profit=8.P - C.P=Rs.100 - R3857l Rsl430
- Profit ) N
Pr fit % = x 100
| = op N\
x o 14.30 100 b .
> . ~ = 100 =— =
- | W e 85707 "

Q5 Distribute Rs.33,000 as a profit in a business ’
regarding three persons, |f thelr shares are in the.

~ ratio 3: 5‘3
Solutlon-. o g
\J\J V¥ Proﬁt-Rs33000
o Bk Ratio among; shares.
: dst 2. 2nde 3rd
g : 5 e, B

"Sum ofratios=3+5+3=11"
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Shareoflst Partner = % x 33000 = Rs.9000 Ans.
Share 6f 2nd Partner = -1'-57 x 33000 = Rs 15000 Ans.

.Share of 3rd Partner = —13—1 x 33000 = Rs.9000 Ans.
Q.6- Three membérs of a firm divide the profit =

amounting Rs.1,44,000 among themselves in the . -

~ ratio 3:4:5. ,
@) What is the biggest share of the proﬁt"

(ii) What is the smallost share of the proﬁt"
Solutlon -

The profit, that is to be, d.lsmbuted Rs ] 44 000
Given Ratios=3": 4 9. ‘
v Sumofratlos-3+4+5— 12

(i) The'Blggest share = -15}- x 1 4,4000 = Rs.60,000 Ans.

(i)~ The Samlliest share = 735 x 144000 = Rs.36000 Ans.

: Multiple Choke Question
Tick v the Correct ChOIce

(i) Profit i$ equal to

(@SP-CP - (b)CP SP

(c) Discount ; (d) Non ofthese |
(i) Proﬁt % age. 1s equal'to | s
P
V@) Em::“ x 100 " (b) rafit x 100
P . > o ,
100 G
( c)* Profit x .(d) N01.1 of these |
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(iii)
y ¥

(iv)

Rowr ‘

)

i)

<

~—’ - id)

lf & 8= Zoo{and,s P2 240 then Profit % age is

(@ 0% (b) 20%

(c) 40% . | (@) 50% |

A Book is sold for Rs.650 at a profit of 30%. Tts Cost
Price is

(@) Rs.400 - "'(b).lis.soo .
(c)Rs.600 . (@Rs.550
~ Loss % age is equal to % |
) -———x.IOO | (b) lg:stOO f
(c) Ii :s X IOOY | 5 (d) l?ols)sx i {30 . \&/
Loss is ineurred if (\ A ‘*w"‘ "
@) $IP >0+ - (b) CP <C.P
(c)CP S.P'- (d) C.P=S.P
If C.P = Rs.950, Profit = /0% then S.P is
(@Rs.1050 - (B)Rs.Ip45
(c) Rs.1105  (d) Rs.995

(vi'iif

Difference between Marked Price’and the Selling
- Price is called.

(a)'Proﬁt % T (b) Loss

' (¢) Discount ) " (d) Tex

- (ix)

If M.P = Rs.2760. Dtscount = Rs 5%. Then Sellmg
Priceis ; TR,

S

- (@) Rs.2620 | ‘ ,._@, Rsl2622~

- (x)> : ¥

<
-

‘.\.',,/,

@©)Rs.2624 \.J V' ° " (d)Rs.2626 -
When Partners invest capitals for different periods of‘
times. the parmershxp is called

(a) Slmple : L, (b).Compound »

(c) Mixed ~ (d) Ordipary



For more Notes, Past Papers, Guess Papers & Many more Visit Now WWW.SEDINFO.NET

Friendly Notes For General Mathemtics 9 & 9 Radtere g
(xi) I\ qus',i_segual‘io e pr e s
! Y@)'CP-SP ' . (®B)SP-CP

' (©@MP-SP . (dDiscount

(xii) " The rebate on marked Price is called .
* (a) Commission (b} Profit

~ (c) Discount ' (@Loss
(xiii). Discount is equal to SO
: (@ MP-S.P " (®)SP-MP

(c) S.P + Profit - (dLoss .

An o - Model Class Test : |
Q.1- Encircle the Correct Answer. | |\ - '
(i) Loss is equal to WAR N i"." 5 o
: (@SP-€P~ " .. . (BHCP-SP )

y V-V "oMP-SP (d)SP-MP
(i) ~ C.P=Rs.250, S.P = Rs.265, Then Profit % age is
(a) 5% . % (b) 6% 7
@) 7% (@ 8% ¥
‘(i) M.P =Rs.400, S.P = Rs.360, Then discount % age is
. (@5% T ) 10% |
(c) 20% : = (d) 15%.
~ (iv).  Investors invest capital for the same period of time,
% the partnership is =~ S
(a) Simple _ (b) Complex” |-
(c) Compound |\ || | (@Mixed
) 1 dn ratio, share.ofeach partner is
¥ a) Capital x Perigd S ®) *———-‘I:,:iﬁ

' (c) Capital + Period (d) Capital — Period
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(vi) & Profit %agetsequa! tb“ i
| ¥V II°“‘><100 ) Plfi 160
S.P ok sk SP-CP. ‘
oy B g .
e MR TR ST . T, v
- (i) . SP+Loss=..... | '
@CP S B)MP
(c) M.P ~.C.P . " @CP-MP

Q.2- Solve any five short questions.
(i) Find Profit % age if C.P = Rs.3450 and S.P = Rs. 3850
(i), Find C.P if S.P = Rs.650 and Profit % age = Rs.30%
(iij)  Find Selling Price of a toy.if the Marked Price is
- Rs.720 and 2% Dlscount is\given.
(iv) "\ Find the)discount % age if a book with marked value
|V Rs.340 is sold for Rs. 306.
(v) - Define Compound Partnership? ' ;
“(vi) . Distribite Rs.200,000 in three Persons in the ratio 3 : 2 : 5.
(vii) 'I'he Profit of Rs.67,200 is to be divided among three
'persons in the ratio 2:3:7. Fmd biggest share. '
Q.3- Attempt any two questions k
1) If the sclling pnce of 10 articles is, equal to the cost
. priceof 11 amcles Find the proﬁt percentage.
(i) A shopkeeper offers a discount of /5% on the marked
- price. How much pcrcentage increase in costprice
‘should be to mark the goods to give a profit of 19%.
(iii) By se!lm% 100 Oranges, a vendor galns the. sellmg
y ‘price o 20 Oranges Find the proﬁt percentage ‘

e

-~

= . .



